2011 OCT 13 A 10: 31
CITY CLERK'S OFFICE

A Company

Det. 9, 2017

RECEIVED

OCT 13 2017

OFFICE OF CITY ATTORNEY

DEAR STEVE ARINI!

APPEAL YOU DECISION AS WRITEN TO
SETTLE FOR \$155.85, FOR MY CLAIM
REKATING TO MY PERSONAL BENONGINGS
THAT WERE DISTROYED BY THE CITY, THE
IT RELATES TO FILE XIO, # 1029-2017-1233
PREASE CALL UPON RECEIPT OF THIS

ThANK You,

CAO: Our offer letterwas mailed 9-19-17 (INCLUSE)

Menn Allen

Envilope ENCROSED COPY.

OFFICE OF THE CITY ATTORNEY

200 East Wells Street

Milwaukee, Wisconsin 53202-3551

THE SHIP

OFFICE OF CITY ATTORNEY

OCT 13 2017

RECEIVED

Mr. Glenn Allen 1029 North 24th Street Milwaukee, WI 53233

ESCON HONOLDAY

դ Արդերերի արդերի հետ հերկինի հիրերերի հ

MILWAUKEE

SENTE ON 520 NEWN ATLEN 11 LUNGURGE M1

RECEIVED

OCT 13 2017

OFFICE OF CITY ATTORNEY

200 EAST WELLS STREET -Thaspores (

MIXWACKEE, WI 53202

300 moo

րհիների արևարդություն արև հերի հիների հիներ

## 2017 HAY 30 A 10: 50

May 26, 2017

SITY OF SELECTION OF FREE

Mr. Jim Owczarski

City Clerk

200 East Wells Street - Room 205

Milwaukee, WI. 53202

MAY 30 2019

ATTN: CLAIMS

On April 21, 2016 while on duty as a Department of Public Works Sewer employee, driving from one work site to another work site; another motorist ran through a red light and T-boned the driver side of the work vehicle that I was driving, which caused me bodily injuries.

Without detailing all that I have been through since the accident, I would like to skip forward to the nature of this claim.

On November 8, 2016 I was temporarily assigned to light-duty from my regular work facility to a different facility which was the 'Tire Shop' facility where I worked until February 24, 2017. During this time and since the accident I followed protocol diligently, in forwarding my medical updates and my status to my supervisors and others,

Now in February 2017, I learned that the Department of Public Works had cut the locks off the lockers and removed the contents; as a part of the Department Of Public Works first-time cleaning process of the 'Men's and Women's Locker Rooms at the Tower Yard, 3850 North 35<sup>th</sup> Street, where I have worked for the last (9) nine years.

After learning the above information I also had learned on January 6, 2017 that the Department of Public Works Administration, had advised (if not before) all department heads within the Tower facility of the new implemented rules and regulations for the Locker Room at the Tower facility.

Apparently, the Department of Public Works, workers had been notified by their supervisors, prior to the 'cleaning project' and the Department of public Works supervisors gave their employees namelabels, to be placed on the outside of their lockers. However, my supervisor never notified me about the "cleaning project' and I was not given any name labels for my lockers. Locks on lockers that did not

have name labels on the outside of the locker, were cut off, and emptied out and my belongings were removed and thrown in the garbage as a part of the 'Locker Room Cleaning' process January 31, 2017.

Unfortunately, I was never notified of the cleaning by my supervisor and was never issued any labels for my lockers, because from November 8, 2016 through February 24, 2017 I was temporarily assigned work at the 'Tire Shop'

Once I learned what had taken place I contacted my supervisor and asked him why he did not tell me anything about the Department of Public Works 'Locker Room Cleaning' project. He replied, "Oh, I forgot about you." He was very apologetic about it; but now all my belongings, work-related items (not mention some of my brand new items with the tags still on them, (such as work gloves) are all gone. This is the reason for my claim.

Page two has the itemized list of missing work-related belongings from my locker at the Tower facility. I can be reached at 414 551-5710

Thank you.

Sincerely,

Glenn Allen

## Glenn Allen's itemized list of personal belongings

1.	12 to 15 pairs of new work gloves	10.00 each	\$120.00 - \$150.00
2.	5 pairs of pants	\$25.00 each	\$125.00
3.	5 shirts	\$20.00 each	\$100.00
4.	3 hooded sweat shirts	\$20.00 each	\$ 60.00
5.	2 black zip-up hoodies	\$30.00 each	\$ 60.00
6.	2 heavy coats	\$65.00 each	\$130.00
7.	1 black belt	\$30.00 each	\$ 30.00
8.	1 pair new boots	\$70.00 each	\$ 70.00
9.	2 winter hats	\$15.00 each	\$ 30.00
10.	1 face& head winter hat	\$25.00 each	\$ 25.00
11.	3-pack lock	\$23.00 each	\$ 23.00

Approximate Total Value:

\$773.00 - \$803.00

Signature Slenn allen Date 5-26-17